RACING PRODUCTS

FITTING INSTRUCTIONS FOR CP04970R CRASH PROTECTORS
KTM 125/200 and 390 DUKE

LHS

RHS

Please note that the way the kit is packed does not necessarily represent the way of mounting
to the bike

—

Rear of Bike Front of Bike

Please note that in cases where Kits are packed with rubber washers holding the components onto the
bolt — the rubber washers should be thrown away!

THIS KIT CONTAINS THE ITEMS PICTURED AND LABELLED BELOW
DO NOT PROCEED UNTILL YOU ARE SURE ALL PARTS ARE PRESENT

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com
1



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

LHS

RHS

TOOLS REQUIRED

e Socket set and Metric Allen Key set.
e Torque wrench (up to 40Nm).

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com
2



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

LEGEND

M10 x 1.25 x 60mm long Hex Head Bolts (Crash Protector Bolts x 2).

M10 Standard Washers (x 2).

M12m Locking Washers (x 2).

BCO0002 Crash Protector Caps (x 2).

BO554 with CS341 (10mm) Crash Protectors (x2).

M8 x 40mm Long Cap Head Bolts (Mounting Block Bolts x 4).

M8 Standard Washers (x 4).

MO0277 Black Anodised Mounting Block (x 2).

M8 x 45mm Long Cap Head Bolts (Mounting Block Bolts x 4 (for 390 models only)
not shown.

©CoNO~wWNE

Fitting Instructions

e Remove 2 x original equipment M8 Hex head bolts from the frame.

e On the 125 and 200 models Bolt Aluminium Mounting Block to frame using the two shorter M8 Cap
Head Bolts (40mm long) and washers (See Pic) (please note on the 390 model you will have to use
the longer bolts 45mm long).

e Tighten to no more than 20Nm.

e Bolt Crash Protector to Mounting Block using 1 x M10 Hex Head Bolt with a standard washer and a
locking washer (See Pic).

e Making sure that the locking washer sits against the Protector.

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

3



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

e Tighten bolt until you feel some compression from inside the protector.
e Turn a little more so that you feel the compression increase slightly.
e Then apply a quarter turn.
e Tighten to no more than 40Nm.
e Do not over tighten as damage can occur to the bike.
e |f not already fitted, fit the bubble sticker into recess of crash protector cap.
e  Fit crash protector cap into crash protector.

e Please note the Crash Protector must be positioned as per the main picture with
the bigger end towards the front of the bike

ISSUE1 23/10/2020

CONSUMER NOTICE

The catalogue description and any exhibition of samples are only broad indications of the Products and R&G may make design changes
which do not diminish their performance or visual appeal and supplying them in such state shall conform to the order. The Buyer
acknowledges no representation or warranty (other than as to title) has been given or will apply to the Products other than those in R&G’s
order or confirmation and the Buyer confirms it has chosen the Products as being of merchantable quality and suitable for its particular
purposes. Where R&G fits the Products or undertakes other services it shall exercise reasonable skill and care and rectify any fault free of
charge unless the workmanship has been disturbed. The Buyer is responsible for ensuring that the warranty on the motorcycle is not
affected by the fitting of the Products. On return of any defective Products R&G shall at its option either supply a replacement or refund
the purchase money but shall not be liable if the Products have been modified or used or maintained otherwise than in accordance with
R&G’s or manufacturer’s instructions and good engineering practice or if the defect arises from accident or neglect. Other than identified
above and subject to R&G not limiting its liability for causing death and personal injury, it shall not be liable for indirect or consequential
loss and otherwise its liability shall be limited to the amounts paid by the Buyer for the Products or the fitting or service concerned. These
terms do not affect the Buyer’s statutory rights.

R&G RACING RETURNS POLICY (NON-FAULTY GOODS)
Returns must be pre-authorised (if not pre-authorised the return will be rejected). Goods may only be returned direct to us if they were
purchased direct from us (customer must prove if necessary). Otherwise to be returned to original vendor. Goods must be in re-sellable
condition, in the opinion of R&G Racing. All returns are subject to a 25% restocking and handling fee (25% of the gross value exc. P&P —
at the prevailing price at time of purchase). The customer must pay any and all carriage charges. No returns of discontinued products,
unless within 14 days of purchase. This policy does not affect your statutory rights and does not refer to faulty goods.

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com
4



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

Instructions de montage pour CP04970R
KTM 125/200 et 300 DUKE

Cote gauche

Cote droit

Veuillez noter que la facon dont le kit est emballe ne represente pas forcement la facon de le
monter sur la moto.

—

Arriere moto Devant moto

Notez que dans les cas ou les kits sont emballés avec des rondelles en caoutchouc,
composantes du boulon - les rondelles en caoutchouc doivent étre jetées !

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

5



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

LE KIT CONTIENT LES PRODUITS SUIVANTS
Ne pas commencer le montage si une des pieces est manguante

Coté gauche

g o

Coté droit

O (-0

OUTILS REQUIS
Jeu de douilles métrique - et mis la clé Allen.
° Couple clé (jusqu'a 40Nm).

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

6



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

LEGENDE :

. M10 x 1,25 x 60mm Boulons (x 2)

. Rondelles M10 standard (x 2)

. Rondelles de blocage M12M (x 2)

. BCO002 Capuchons de protection crash (x 2)

BO554 avec CS341 (10mm) Crash Protection Canettes (x2)

. M8 x 40 mm Boulons bloc de montage (x 4)

. M8 rondelles standard (x 4)

. M0277 Bloc de montage (x 2)

. M8 x 45mm Boulons (Boulons du bloc de fixation x 4 (pour les modéles 390 uniquement) non
indiqué.

LNV AWNR

Instructions de montage

e Retirez 2 x équipement d'origine boulons M8 a téte hexagonale de la base

e Surles modeles 125 et 200, boulonnez le bloc de fixation en aluminium au cadre en
utilisant les 2 boulons les plus courts M8 (40mm de long) et les rondelles (voir photo) (Sur
le modele 390, vous devrez utiliser les boulons les plus longs 45mm de long).

e Ne passerrer a plus de 20Nm.

e Boulonner la protection crash au bloc de fixation en utilisant le boulon M10 avec une
rondelle standard et une rondelle de blocage (voir photo).
e Sover slr gue la rondelle de blocage se place contre la protection.

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com
7



http://www.rg-racing.com/
mailto:info@rg-racing.com

RACING PRODUCTS

= Serrer le boulon jusqu'a ce que vous sentiez une legere compression a I'interieur du
protecteur.

= Serrez encore légérement pour sentir I’augmentation de la compression.

= Serrer a un maximum de 40Nm

= Ne serrez pas trop car les dommages peuvent se produire a la moto

=  Sipas déja placé, I'autocollant de bulle dans le renfoncement du capuchon protecteur crash

= Mettre en place capuchon protecteur crash sur I'écrasement de protection.

= S'il vous plait noter que le protecteur crash doit etre positionne comme sur I'image
principale avec le gros bout vers I'avant de la moto.

ISSUE 1 23/10/2020

R&G Racing
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ
Tel: +44 (0)1420 89007 Fax: +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com

8



http://www.rg-racing.com/
mailto:info@rg-racing.com

